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10.

(-
Solution:

We get,

- J[x + 1 2}1\:
X
By taking the terms separately, we get,
1
= |wdx+ |—dx -2 |l.dx
[+ L— |
Hence, we get,

ﬂ;;+log|x|—2x+c

11.

1 1
X+ -4
e

Solution:



We get,
= j(x+5 —4x~ )dx
By taking the terms separately, we get,
= [xdx+5 (e —4 [xdx
On further calculation, we obtain,
2 -1
= x—+5x—4{x—]+c
2 1

Hence, we get,
S serdic
2 x

12.

f.t"' +3x+ 4 ;

Jx

Solution:

We get,

b 1 1
= J‘(xl +3x? 44y ? }dx

On further calculation, we get,

A4,

A TR

2 2

b3 | =] -

S0,
2 ! : !
=—x? 4242 +8x2 4+ C

Hence,
%xi +2x2 +8Yx +C

13.

J-x?'—x2 +x-1 i

x—1

Solution:



By dividing, we get,

= j(x2 +1)dx
By taking the terms separately, we get,
= [dx+ [ids

Therefore, we obtain,

1
=% 4x+C
3

14.
I(] ~x Wordx

Solution:

We get,

i

On further calculation, we get,

] ki
= J_rzdx— jxldr
S0,
3 k]
xI x!
=T -4 C
335
2 2
Hence. we get,
2 3 2 bl

=—x*~=x*+C

15.
j‘v";(}x: o+ 2x+3)dx

Solution:



We get,

5 i 1
= _r[Exz +2x* + 3x° }Lr

By taking the terms separately, we get,
5 3 1

=3 [x2dv+2 [¥de+3 [x?dy

On further calculation, we get

3
=3 L o143

“";_;;“ + 2 3 “Tﬂ'c

2 2 2
Therefore, we get,

=Ex;+ix§+2xg+ﬂ
7 3
16.
!{2x—3cosx+e”)dx

Solution:

By taking the terms separately, we get,
=2 Im’x—B jms xlx + Ie"‘aﬁ:

On further calculation, we get,
=Zsz~3{sin x)+e"+C

Hence, we get,
=x" ~3sinx+e” +C

17.
f[zf ~3sinx+ sﬁ)dx

Solution:



